5.9 Solving Trig Equations Part 1 Name:

Solve each equation on the indicated domain, show all of your work!

1. tan0+3=0 96[00,3600) 7. tanx—+/3=2tanx x € {real numbers}
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2. 2cosx++3=0 xe[0,27) 8. cosx+2=3cosx x e {real numbers}
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3. 2sin(9+82°):—1 9&[0",360”) 9. sin’x+3cos’x=0 xe[0,27)
NO SOoLUTION

(28°, 248°

4. sec(0+740)=—2 96[00’3600) 10. sin2xcosx—0052xsinx=—73 xe[0,27r)
° |lglg°
a0} 4T, o
2 3
2. _

5. dcostx=1 xe[0,27) 11. sin2xsinx+cosx=0 xe[0,27)
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6. 4sin’x=3 x € {real numbers}

- 12. cos4xcosx—sin4xsinx=0 x€[0,27)
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